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Fample 8
AABC, AB =10 units, BC = 6 units and AC =8 units.
In

pow that AABC is right-angled and state which angle 10 8
Jution C

0
Suﬁ;u of the sides: B )

e (6)° =36
2=(1 O)2 =100 '
;:f w find out which two squares add up to the third square. Clearly 100 is th
and 64 )
. B} =BC? +AC
"AABC is a right-angled triangle and the right-angle is at ]

|
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(2) Inthe triangles below, show that the triangle is right-angled and
right-angle.
(1) In AABC, AB=24,BC=7 and AC=25.
(2) In AABC, c=14, =48 and a = 50.
(3) In APQR, PQ =24 m, QR =70 mand PR =74 m.
(4) In APQR, p =80 cm, g =82 cmand » =18 cm.

e sum of 36

state which angle is the

(b)InAABC,AleS,BC=9andAC=12 A
and in AACD, AC=12 and AD =13.

(1) Show that AABC is right-angled at C, . 157 15 13
(2) Why is C, =90°? okd
(3) Calculate the length of CD. B 9 c D

() In AABC, AB =74, BC =24, AC=70 and DE =25. A F
(1) Show that AABC is right-angled at C, .

(2) If ACDF is a square, why is AFDE A/ 10
a right-angled triangle?
(3) Calculate the length of EF rounded off 1l2
to two decimal pl_aces. . B 194 C D 25
(4) Calculate the perimeter of trapezium ABEF.

(4) ABCD and EBFD are parallelograms. AE = ED. A B4 witg
(1) Show that ABCD is a rectangle. " : N
(2) Why is € =90°? |
(3) Calculate the length of FC. = 17
(4) Calculate the perimeter of ABCD.
(5) Calculate the area of ABCD.
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